=Ju =
z B & i

T #H 4 /INRFROR B I b Rx B R | AR D e TS (RIE.NHI[X)

M T 5% At BT REANET T H9-33

T £y B RE B D SRk 294 28 28HET

= B KRS E
IR
KEME R A T
A D) T F M & (M) HEBMEYEE (M)
e P e 45,798,480 42,406,000 (A) 3,392,480
AL U e e | 46,554,480 43,106,000 (B) 3,448,480
M IEE AR 43,254,000 40,050,000 (©) 3,204,000
ALK 43,967,880 (F) 40,711,000 (D) 3,256,880 (E)
b/ E| 713,880 661,000 52,880
FHEH)  B)X(©C)+A)=(D) <KD THIED - FHLLFUET>

(D) X0. 08=(E)

(D) +(E) =

(F)




INEEREERRERERFARICHRIBUETE(KEAHXK)

[\ No. 1
RETEEA] RETEER
- - - : — 1
& =i i Z = 5 {f 2% = 5 1 245 E5EHE s E
R
RE T H =K 21,399,328 =K 22,010,732 611,404 HE%H
Bkl L3 = 4,420,926 =Y 4,420,926 0
PR i T 6,703,062 6,703,062 0
BT 3 32,523,316 33,134,720 611,404 HA%H
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Mo R = 1,174,568 = 1,184,826 10,258 |H9%H
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A4 [BETHF 1 K 853,226 1 K 853,226 0
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